

Name: Nwadike Reginald-Francis. C.

~~Handwritten signature~~

Department: Computer Engineering.

Matric No: 17/eng02/052.

ENG 252.

Solution.

$$\frac{dy}{dx} = -4Ae^{-4x} - 6Be^{-6x} \quad \dots (i)$$

$$\frac{d^2y}{dx^2} = 16Ae^{-4x} + 36Be^{-6x} \quad \dots (ii)$$

Solving eqn (i) and (ii) simultaneously.

Multiply eqn (i) by 6.

$$\therefore 6 \frac{dy}{dx} = -24Ae^{-4x} - 36Be^{-6x} \quad \dots (iii)$$

$$\frac{d^2y}{dx^2} = 16Ae^{-4x} - 36Be^{-6x} \quad \dots (iv)$$

$$\frac{6dy}{dx} + \frac{d^2y}{dx^2} = -8Ae^{-4x}$$

$$\therefore A = \frac{6 \frac{dy}{dx} + \frac{d^2y}{dx^2}}{-8e^{-4x}} \quad \dots (v)$$

Substituting eqn (v) into eqn (i)

$$\frac{dy}{dx} = -4 \left(\frac{6 \frac{dy}{dx} + \frac{d^2y}{dx^2}}{8e^{-4x}} \right) e^{-4x} - 6Be^{-6x}$$

$$\frac{dy}{dx} = \frac{6 \frac{dy}{dx} + \frac{d^2y}{dx^2}}{2} - 6Be^{-6x}$$

Multiply through by 2.

$$\therefore 2 \frac{dy}{dx} = \frac{6dy}{dx} + \frac{d^2y}{dx^2} - 12Be^{-6x}$$

$$2 \frac{dy}{dx} - \frac{6dy}{dx} = \frac{\partial^2 y}{\partial x^2} \leftarrow 12Be^{-6x}$$

$$-4 \frac{dy}{dx} = \frac{\partial^2 y}{\partial x^2} = -12Be^{-6x}$$

$$-4 \frac{dy}{dx} - \frac{\partial^2 y}{\partial x^2} = -12e^{-6x} \quad (\dots)$$

$$\therefore \frac{4 \frac{dy}{dx} + \frac{\partial^2 y}{\partial x^2}}{12e^{-6x}} = 0$$

Substitute A and B into the degenerate eqn.

$$\therefore y = \frac{6 \frac{dy}{dx} + \frac{\partial^2 y}{\partial x^2}}{-8e^{-4x}} + \frac{4 \frac{dy}{dx} + \frac{\partial^2 y}{\partial x^2}}{12e^{-6x}} \times e^{-6x}$$

$$\therefore y = \frac{6 \frac{dy}{dx} + \frac{\partial^2 y}{\partial x^2}}{-8} + \frac{4 \frac{dy}{dx} + \frac{\partial^2 y}{\partial x^2}}{12}$$

$$y = -\frac{7}{2} \frac{dy}{dx} - \frac{1}{2} \frac{\partial^2 y}{\partial x^2} + \frac{3}{2} \frac{dy}{dx} + \frac{1}{3} \frac{\partial^2 y}{\partial x^2}$$